921701970

ROUGH COLUNTRY

ANOTICE

SUSPENSION SYSTE/IIS,

DODGE 2013-16 Ram 1500 Mesh Grille

Thank you for choosing Rough Country for all your lighting needs.

Please read instructions before beginning installation. Check the kit hardware against the kit contents
shown below. Be sure you have all needed parts and know where they go.

If question exist, please call us @1-800-222-7023. We will be happy to answer any questions concerning the design,
function, and correct use of our products.

N\ (OXU[®= Oy fits 2013-16 Ram 1500 models.

Tools Needed:

7mm Socket
10mm Socket/Wrench
Flat Screwdriver
11/32” Wrench
7/16” Socket

7/16” Wrench
3/32” Allen Wrench
5/32” Allen Wrench
11/64” & 9/32” Drill
Drill Motor

Ratchet

Tape

70197 Kit Contents

(1) Grille Trim Ring

(1) Mesh Grille

(2) Instructions

(12) Mounting Brackets

(1) 70197BAG
(13) 1/4” x 5/8” Button Head Allen Bolts
(14) 1/4” x 1/2” Button Head Allen Bolts
(27) 1/4” Lock Nuts
(1) 1/4”" Flat Washers
(12) #8 x 1/2” Button Head Allen Bolts
(12) #8 Lock Nuts

70197

70198 Kit Contents

(1) Grille Trim Ring

(1) Mesh Grille

(2) Instructions

(12) Mounting Brackets

(2) Light Mounting Brackets

(1) 70198BAG
(15) 1/4” x 5/8” Button Head Allen Bolts
(28) 1/4” x 1/2" Button Head Allen Bolts
(43) 1/4” Lock Nuts
(1) 1/4”" Flat Washers
(12) #8 x 1/2” Button Head Allen Bolts
(12) #8 Lock Nuts

70198

ROUGH COUNTRY



1. Park the vehicle on a smooth level surface.
2. Remove the radiator cover. See Photo 1.

3. Using a 10mm socket, remove the grille mounting bolts and save for reuse. See Photo 2.

4. Lay the grille face down and remove the grille mount bolts, using a 10mm socket. Save for reuse. See Photo 3.
5. Remove the grille mount from the grille shell. See Photo 4.

| |
Photo 3 Photo 4

Remove grille mount. Remove grille mount.

6. Tape the painted/chrome portion of the grille and cut the middle vertical and horizontal bars. Remove the inner cut

portion of the grille. On the bottom of the center vertical bar leave approx 1" of plastic protruding into the
grille area. See Photo 5.

7. Place the grille outer ring on the grille shell. See Photo 6.

Photo 5 Photo 6

Cut inner grille from shell.




9. Make a mark in the center of the grille for a centering reference. See Photo 7.
10. Attach the grille brackets to the mesh grille using the supplied 1/4” x 5/8” bolts and nuts. Use the 1/4” x 1/2" bolts to
attach the mesh to the trim where there is not a mounting bracket. Do not tighten. See Photo 8.

~ Photo 7 \ ' l Photo 8 |

Find center of grille shell and mark. Install mesh grille mounts.

11. Lay the mesh grille assembly into the factory grille shell. See Photo 9.
12. Align the mounting brackets with the inner grille shell and mark for drilling. See Photo 10.

Photo 9

Photo 10

Install mesh grille onto grille trim. Mark for drilling.

13. Starting in the center and working toward the sides, use the bracket as a guide to drill 11/64” holes in the factory
grille. See Photo 11. You may have to bend the mesh grille to follow the lines of the factory grille trim, as
the mesh grille is shipped as flat pieces.

14. Attach the mesh grille to the shell using the supplied #8 x 1/2”. Position the grille and tighten using a 3/32” Allen and
11/32” wrench. Drill the 9/32" lower center hole and install the supplied 1/4” x 5/8” bolt, using the supplied flat
washer and nut. Tighten using a 5/32" Allen and 7/16” socket/wrench. See Photo 12.

Photo 11

! g \\W
Drill marked holes. Attach mesh grille to grille trim.




15. If not installing grille with LED light skip to step 19.

16. Attach the light mount brackets to the mesh grille using the supplied 1/4” x 5/8” bolts and nuts. Do not tighten. See
Photo 13.

17. Attach the light to the brackets using the supplied hardware. Tighten the brackets using a 5/32" Allen and 7/16”
socket/wrench, and tighten the light using the supplied Allen. See Photo 14.

Photo 14
'-——’—— =17 3

Install light into brackets.

18. Wire the light according to the included instructions.

19. Install the grille mount using the factory hardware. Tighten using a 10mm socket. See Photo 15.

20. Install the grille assembly onto the truck using the factory hardware plugging the light into the light wiring harness if
used. Tighten using a 10mm socket. Photo 16.

21. Install the radiator cover.

Install grille mount. Install grille onto truck.




“QGOOGOQOOGOOGGOOQQG
see
Q:“OOOOGOGOOOOGGOOGQGOGOO

By purchasing any item sold by Rough Country, LLC, the buyer expressly warrants that he/she is in compliance with all
applicable , State, and Local laws and regulations regarding the purchase, ownership, and use of the
item. It shall be the buyers responsibility to comply with all Federal, State and Local laws governing
the sales of any items listed, illustrated or sold. The buyer expressly agrees to indemnify and hold
harmless Rough Country, LLC for all claims resulting directly or indirectly from the purchase, owner-
ship, or use of the items.








<<

  /ASCII85EncodePages false

  /AllowTransparency false

  /AutoPositionEPSFiles true

  /AutoRotatePages /None

  /Binding /Left

  /CalGrayProfile (Dot Gain 20%)

  /CalRGBProfile (sRGB IEC61966-2.1)

  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)

  /sRGBProfile (sRGB IEC61966-2.1)

  /CannotEmbedFontPolicy /Error

  /CompatibilityLevel 1.4

  /CompressObjects /Tags

  /CompressPages true

  /ConvertImagesToIndexed true

  /PassThroughJPEGImages true

  /CreateJobTicket false

  /DefaultRenderingIntent /Default

  /DetectBlends true

  /DetectCurves 0.0000

  /ColorConversionStrategy /CMYK

  /DoThumbnails false

  /EmbedAllFonts true

  /EmbedOpenType false

  /ParseICCProfilesInComments true

  /EmbedJobOptions true

  /DSCReportingLevel 0

  /EmitDSCWarnings false

  /EndPage -1

  /ImageMemory 1048576

  /LockDistillerParams false

  /MaxSubsetPct 100

  /Optimize true

  /OPM 1

  /ParseDSCComments true

  /ParseDSCCommentsForDocInfo true

  /PreserveCopyPage true

  /PreserveDICMYKValues true

  /PreserveEPSInfo true

  /PreserveFlatness true

  /PreserveHalftoneInfo false

  /PreserveOPIComments true

  /PreserveOverprintSettings true

  /StartPage 1

  /SubsetFonts true

  /TransferFunctionInfo /Apply

  /UCRandBGInfo /Preserve

  /UsePrologue false

  /ColorSettingsFile ()

  /AlwaysEmbed [ true

    /Free3of9

  ]

  /NeverEmbed [ true

  ]

  /AntiAliasColorImages false

  /CropColorImages true

  /ColorImageMinResolution 300

  /ColorImageMinResolutionPolicy /OK

  /DownsampleColorImages true

  /ColorImageDownsampleType /Bicubic

  /ColorImageResolution 300

  /ColorImageDepth -1

  /ColorImageMinDownsampleDepth 1

  /ColorImageDownsampleThreshold 1.50000

  /EncodeColorImages true

  /ColorImageFilter /DCTEncode

  /AutoFilterColorImages true

  /ColorImageAutoFilterStrategy /JPEG

  /ColorACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /ColorImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000ColorACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000ColorImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasGrayImages false

  /CropGrayImages true

  /GrayImageMinResolution 300

  /GrayImageMinResolutionPolicy /OK

  /DownsampleGrayImages true

  /GrayImageDownsampleType /Bicubic

  /GrayImageResolution 300

  /GrayImageDepth -1

  /GrayImageMinDownsampleDepth 2

  /GrayImageDownsampleThreshold 1.50000

  /EncodeGrayImages true

  /GrayImageFilter /DCTEncode

  /AutoFilterGrayImages true

  /GrayImageAutoFilterStrategy /JPEG

  /GrayACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /GrayImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000GrayACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000GrayImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasMonoImages false

  /CropMonoImages true

  /MonoImageMinResolution 1200

  /MonoImageMinResolutionPolicy /OK

  /DownsampleMonoImages true

  /MonoImageDownsampleType /Bicubic

  /MonoImageResolution 1200

  /MonoImageDepth -1

  /MonoImageDownsampleThreshold 1.50000

  /EncodeMonoImages true

  /MonoImageFilter /CCITTFaxEncode

  /MonoImageDict <<

    /K -1

  >>

  /AllowPSXObjects false

  /CheckCompliance [

    /None

  ]

  /PDFX1aCheck false

  /PDFX3Check false

  /PDFXCompliantPDFOnly false

  /PDFXNoTrimBoxError true

  /PDFXTrimBoxToMediaBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXSetBleedBoxToMediaBox true

  /PDFXBleedBoxToTrimBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXOutputIntentProfile (None)

  /PDFXOutputConditionIdentifier ()

  /PDFXOutputCondition ()

  /PDFXRegistryName ()

  /PDFXTrapped /False



  /CreateJDFFile false

  /Description <<



    /BGR <>

    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>

    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>

    /CZE <>

    /DAN <>

    /DEU <>

    /ESP <>

    /ETI <>

    /FRA <>

    /GRE <>



    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)

    /HUN <>

    /ITA <>

    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>

    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>

    /LTH <>

    /LVI <>

    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)

    /NOR <>

    /POL <>

    /PTB <>

    /RUM <>

    /RUS <>

    /SKY <>

    /SLV <>

    /SUO <>

    /SVE <>

    /TUR <>

    /UKR <>

    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)

  >>

  /Namespace [

    (Adobe)

    (Common)

    (1.0)

  ]

  /OtherNamespaces [

    <<

      /AsReaderSpreads false

      /CropImagesToFrames true

      /ErrorControl /WarnAndContinue

      /FlattenerIgnoreSpreadOverrides false

      /IncludeGuidesGrids false

      /IncludeNonPrinting false

      /IncludeSlug false

      /Namespace [

        (Adobe)

        (InDesign)

        (4.0)

      ]

      /OmitPlacedBitmaps false

      /OmitPlacedEPS false

      /OmitPlacedPDF false

      /SimulateOverprint /Legacy

    >>

    <<

      /AddBleedMarks false

      /AddColorBars false

      /AddCropMarks false

      /AddPageInfo false

      /AddRegMarks false

      /ConvertColors /ConvertToCMYK

      /DestinationProfileName ()

      /DestinationProfileSelector /DocumentCMYK

      /Downsample16BitImages true

      /FlattenerPreset <<

        /PresetSelector /MediumResolution

      >>

      /FormElements false

      /GenerateStructure false

      /IncludeBookmarks false

      /IncludeHyperlinks false

      /IncludeInteractive false

      /IncludeLayers false

      /IncludeProfiles false

      /MultimediaHandling /UseObjectSettings

      /Namespace [

        (Adobe)

        (CreativeSuite)

        (2.0)

      ]

      /PDFXOutputIntentProfileSelector /DocumentCMYK

      /PreserveEditing true

      /UntaggedCMYKHandling /LeaveUntagged

      /UntaggedRGBHandling /UseDocumentProfile

      /UseDocumentBleed false

    >>

  ]

>> setdistillerparams

<<

  /HWResolution [2400 2400]

  /PageSize [612.000 792.000]

>> setpagedevice



